3.1 Introduction
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3.2 Second Order System
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3.3 Performance Specifications for a Continuous System

" 0 < 1 $ $ $
LA / LA $



//>

& $ %
$ k
$ " $
$ &
b #
1 0 b
b
1.0 _|
0.9 —
0.1
- tr
et |
ts
O* .23 ItH, *,0* JEO" . #)
b b b $
0 .1 $







/ (R}

www $ & %

LA} | +¢|
[ _ 3
- % LA}
.o
$
II%
LA} #
LA} -B
$ A.B
$ =
,=A b =,
b OAAGRC A DI
# ..B
$ 0T b AAQD
0C< b AG7DI
; -% LA}
b

0C<

# 0 8L

%

y(t)

081

0.6

0.4}

02r

O*

(=0.3 - underdamped

(=1.0 - critically dampe

¢(=4.0 - overdamped
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3.4 Proportional Control
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3.5 Integral Control
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3.6 Derivative Control
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3.8 Difference Equations
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3.9 CASE STUDY: PID Control of Wheel Velocity
3.10 CASE STUDY: PID Control of Yaw Rate

3.11 Summary and Glossary

3.12 Problems
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